BHARAT COKE OF COAL LIMITED

(A Subsidiary of Coal India Limital) Office of the General Manager, WJA MOON OFF P.O. Moonidih Distt. Dhanbad. (Jharkhand)

Ref. No. WJA/MND/Civil Tender/5/2008-09//3 25

Dated: 2 /4 /0 9

TENDER NOTICE

Sealed percentage rate tender on above/below basis in two parts (part-I & II) are invited from experienced and eligible contractors for taking up the following works:-

Sl. No.	Nature of Job & Location	Estimated Cost	Earnest Money	Cost of Tender Paper	Time of Completion
1.	Construction of compound wall at 3A/1 bungalow at Moonidih, W.J.Area.	Rs 2,36,177.13	Rs.2362/-	Rs.250/-	2 months
2	Construction of PCC road from overbridge to officer's colony more main road, Moonidih, W.J.Area.	Rs. 2,45,111.60	Rs.2452'-	Rs.250/-	2 months

Issue of tender documents - Begins on: 10.04.2009 Closed on: 11.04.2009

(Issue of tender documents will be done on all working days during working hours except on Sundays and Holidays). In the event of the specified date for submission/ opening of bids declared a holiday by the employer, the bids will be received /opened on the appointed time on the next working day.

Date and time of receiving of tender: 13.04.2009 upto 11:00 A.M. Date and time of opening of tender : 13.04.2009 at 11:30 A.M.

Eligibility Criteria:-

- 1) The intending tenderer must have its nome as a prime contractor experience of having successfully completed similar nature of job during last 7(Seven) years ending last day or month previous to the one in which bid applications are invited (i.e. eligibility period) should be either of the following:-
- Three similar completed works each colling not less than the amount equal to 40% of the estimated cost.
- ii) Two similar completed works each cotting not less than the amount equal to 50% of the estimated cost.
- iii) One similar completed works each costing not less than the amount equal to 80% of the estimated cost.
- iv) Similar works means:- Construction of compound wall (for Sl.No.1) & Construction of PCC Nort(for Sl.No.2).

- Average annual financial turn over of civil works during last three years ending 31st.
 March of the previous financial year should be at least 30% of the color and cost.
- Note:- i.) Provision under englichity criteria under shood shall also include those similar works which have been started earlier than alignifier period of tender but completed during the eligibility period as per NIT.
- As per eligibility criteria specified unfer Sl.No.1 pre-qualification shall be done based on experience of the successfully completed works and not on experience of works in progress.

100mmは 100mmは 100mmに 100mmに

- iii) The tender documents can be had from the office of the Area Civil Engineer, W. J. Area, Moonidih. After depositing of requisite cost of tender paper in form of cash (Non-refundable) with Cashier Sr. F. O., W. J. Area, Moonidih from 10.04 2009 to 11.04.2009.
- iv) No tender will be issaid or submitted 1 istal means
- v) Conditional tenders will be out right rejected.
- Vi) Completed sealed tender (part-I & part-II), Technical bid part-I and Price bid Part-III should be submitted on 13.04.2009 upto 11:00 A.M., in the office of the Area Civil Engineer, WJA, Moonidih and Part –I of the tender will be opened on the same day at 11:30A.M. in the presence of intending tenderers or their authorized representatives. The earnest money deposit is to be submitted in a separate envelope altogether super scribing "Earnest Money Deposit" and not inside the envelope containing Part-I or Part-II of the Bid. Only Part-I will be opened on 13.04.2009 and Part-II will be opened only after the acceptance of part-I (Technical Bid) and after obtaining approval of the competent authority.
- 3) The Management of BCCL reserves right to reject any or all of the tenders without assigning any reasons what-so-ever and to split up and distribute the work among the tenderers.
- 4) The earnest money should be deposited in form of cash or Bank Draft of Local nationalized Bank in favour of Bharat Coking Coal Limited payable at Dhanbad and proper money receipt should be enclosed.
- 5) No materials will be supplied by the deput for this work and will be responsibility of the contractor for procurement of the same at his own cost and risk.
- 6) Issuance of tender documents does not mean that the parties are considered qualified.
- Late or delayed tender shall not be considered.
- 8) a) Declaration regarding genuineness of the documents submitted & non-relationship in BCCL in original.
 - b) Declaration that they have not been banned or de-listed by any Covt. or Quasi Govt. Agencies or PSU's.
- 9) The validity of the tender will be 120 days from the date of opening of price bid or revised price bid, if any

- 10) Contractors have to abide by the Central Labour Regulation Act. 1970 & Allied Labour Laws amended upto date.
 - 11) Income Tax Clearance Certificate/PAN, No. and Sales Tax Registration / VAT Certificate is to be submitted with the tender documents.
 - 12) Estimated quantity and side conditions, or the other documents, such general terms and conditions, general specifications, responsibility of the contractor, additional safety measures etc. may be seen at the office of the undersigned which will be applicable to be contract.

Area Civil Engineer. W. J. Area, Moonidih

Distribution:-

- 1) The Executive Director (VIGL), BCCL, Koyla Bharran, 19 and
- 2) H.O.D. (Civil) Civil HQ, Koyla Nagar, Dhanbad.
- 5) General Manager, WJA, Moonidih.
- 4) Addl.GM./AFM, WJA, Moonidih.,
- 5) All Area Civil Engineers, Area-I to XII, PB. Area, Bhalgora Area, Block-II Area, EJ Area.
- 6) Project Officer, Moonidih Project, MLD 20/21 Pits. Lohapatti Colly.
- Sr, Cashier, WJA, Moonidih.
- 8) The Builders Association of India, 16 L.T.G., Housing Colony, Dhanbad.
- 9) P.R.O, Koyla Bhawan, for wide publication in the Newspapers.
- 10) Genera | Manger System (EDP), Koyla Bhawar for publication in BCCL website.

Bill of Quantity for the work of "Construction of PCC road from overbridge to officer's colony more main road, Moonidih, W.J.Area"

Sl. No.	Description of Work	Unit of Qnty.	Estimated Qnty. of Work	B.C.C.L scheduled rates	Amount (in Rs.)
1	P.C.C (1:2:4) in pavement to require slop and chamber	M^3	127.60	1848.00	235804.80
2	Centring & shuttering	M^2	43.00	61.10	2627.30
3	Earth work excavation for o/areas / soil.	M^3	73.0	91.50	6679.50
			Total (Rs.)		2,45,111.60

Note: Add _____% above/below from the estimated Cost.

Area Cival Engineer WJA, Moonidih

Signature of the Contractor

Bill of Quantity for the work of "Construction of compound wall at 3A/1 bungalow at Moonidih, W.J.Area"

S1. No.	Description of Work	Unit of Qnty.	Estimated Qnty. of Work	B.C.C.L scheduled rates	Amount (in Rs.)
1	Earth work in excavation pf f/ trench in soil.	M^3	71.50	93.55	6688.82
2	Cement concrete (1:4:8) in foundation.	M^3	11.90	1404.70	16715.93
3	Brick work with cm (1:6) in f&p with 50 c/d brick.	M ³	48.50	1257.35	60981.47
4	Brick work with cm (1:6) in s/s with 50 c/d brick.	M^3	75.30	1463.75	110220.37
5	Brick band projected 5cm/7cm with cm (1:4) with 50 sub desg. brick	М	336.10	5.99	2013.23
6	12mm c/plaster with cm (1:6) complete job.	M^2	813.10	44.0	35776.40
7	Colour washing then coat on new work.	M^2	813.10	4.65	3780.91
			Total (Rs.)		2,36,177.13

Note: Add _____% above/below from the estimated Cost.

Area Civil Engineer WJA, Moonidih

Signature of the Contractor